2.4 Perimeter Word Problems
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Examples:

1. The length of a rectangle is 4 more than 3 times the width.

The perimeter is 48. Find the length.
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2. The length of a rectangle is 3 more than 5 times the width.
The perimeter is 126 m. Find the length and width.
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3. The first side of a triangle is 3 cm longer than the second
side. The third side is 4 cm shorter than twice the length of
the second side. If the perimeter is 31 cm, find the length of
each side.
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4. The length of each leg of an isosceles triangle is 4 inches
less than twice the base. Find the length of each side if the
perimeter is 22 inches.
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5. The base of an isosceles triangle is twice as long as the
side of a square. Each of the legs is 1 inch longer than a
side of the square. Find the length of a leg of the triangle
if the sum of the perimeters is 18 inches.
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